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Uniform circular motion (continued)

What is the Newton's third law pair of the gravitational force of the Earth acting on the

Moon?
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Why doesn't the Earth orbit around the Moon under the action of this force/
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Why doesn't the Moon fall down? or does it? [J\ (S uul.M M L\QWM M\ﬁg( 9
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What if we could turn off the Earth's gravity? What would hgppen to the moon? J(\)J(l\a
inef4ia mpon w ol gl aju 0 t\sm-jbf
Why does a satellite stay/in orbit?

Why does an astronaut feels wm&;tzless? (C\/\Hl'\ elevodm coble ) M b &nht)
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When you are inside a car that is turning to the left, why do you fe I|ke you are going
to the right? \\/N{ ‘A

Work done by a centripetal force
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What is the consequence of that for the Moon in its orbit around the Earth?
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Centripetal Force in a Horizontal and a Vertical Plane

1. A car with a mass of 2135 kg is rounding
a curve on a level road. If the radius of | F
curvature of the road is 52 m and the
coefficient of friction between the tires

not enough friction

ani atis
mum speed at which the car can make
the curve without skidding off the road?
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2. You are playinid T vo-vo with a mass of 225 g. The full length
of the string is 1.2 m. You decide to see how slowly you can swing
it in a vertical circle while keeping the string fully extended, even
when the vo-vo is at the top of its swing.

(a) Calculate the minimum speed at which you can swing the yo-vo
while keeping it on a circular path.

(b) At the speed that you determine in part (a), find the tension in the
string when the vo-yo is at the side and at the bottom of its swing.
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